Beispiel fiir ein einfaches Logical in Tabellenform

Im Frihjahr sind viele bunte Schmetterlinge zu sehen. Sie sind ganz unterschiedlich, aber alle
wunderschon.

Lies den Text, fulle die Tabelle aus und finde heraus:

Welcher Schmetterling hat blaue Punkte?

Schmetterling 1 2 3 4

Korperfarbe

Fligelfarbe

Farbe der Punkte

Der Schmetterling mit den blauen Fligeln ist neben dem mit den rosa Flugeln.

Der Schmetterling links hat einen gelben Kérper.

Der Schmetterling mit den gelben Punkten ist neben dem mit den lila Punkten.

Der Schmetterling mit dem griinen Kérper hat gelbe Fligel.

Der Schmetterling mit den roten Punkten ist nicht neben dem mit den gelben Punkten.
Ein Schmetterling hat orangefarbene Fligel und lila Punkte.

Der Schmetterling neben dem mit dem gelben Kdérper hat einen roten Kérper.

Neben dem Schmetterling mit den gelben Fligeln ist ein Schmetterling mit rosa Fligeln.
Der Schmetterling mit dem orangefarbenen Kérper ist neben dem mit dem roten Kérper.
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(Satzreihenfolge: 2-7-9-4-8-1-6-3-5)
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Ubersichtstabelle

|

A . w .
) ausmalen s Tabelle ausfillen RS selbst zeichnen
0 ¢ = J
&, 2
Work Sheets Vocabulary
easy more difficult
1 At the circus f3> | costume, duration of the show (in F=3> | costume, trapeze artist, tightrope walker, clown,
S X” | minutes), juggler, clown, tightrope S=X” | juggler, animal trainer, snake charmer, balls,
walker, director, animal trainer confetti, umbrella, lions, cobra, trapeze swing
2 | Bikes ) tyres, carrier, handlebars, saddle, ) tyres, carrier, handlebars, saddle, headlight,
ol headlight - lock, toolkit
i =1~ | age, months f=—l» | date, months
3 |Birthdays E 9 %
4 Breakfast =2 | coffee, apple juice, water, tea with f=J | cocoaq, orange juice, tea with milk and
==L~ | milk and sugar, cocoa, bacon and =L~ | sweetener, coffee with milk and sugar, milk,
eggs, sausages and baked beans, toast with marmalade, cornflakes with milk,
yoghurt, bread rolls with chocolate grilled tomatoes and mushrooms, toast with
spread, toast and scrambled eggs bacon and eggs, baked beans and fried eggs
5 | Clocks and time =32 | time, alarm clock, cuckoo clock, A=) | time, alarm clock, cuckoo clock, travelling
X" | travelling clock, pocket watch 5" | clock, pocket watch, grandfather clock
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At the circus

v | Everybody likes going to the circus.
- The artists have differently coloured
- costumes and their show lasts only a

few minutes.

Read, fill in the table and find out:

o|n|R|n

Who has a red costume? director

Possible solution: 5-3-9-1-6-8-2-7-4

artist juggler director clown animal trainer tightrope walker

colour of costume blue red orange brown yellow

duration of the show

Lo 10 5 8 20 15
(in minutes)

. The show on the right lasts fifteen minutes.

. The show that lasts twenty minutes is between the show that lasts fifteen minutes and the show that lasts eight minutes.
. The show that lasts five minutes is next to the show that lasts eight minutes.

. The juggler has a ten-minute-show.

. The director is next to the juggler.

. The clown is between the director and the animal trainer.

. The tightrope walker has a yellow costume.

. The artist with the brown costume is between the artist with the yellow costume and the artist with the orange costume.
. The director’s costume is not the blue costume.

A NNDOOO = O©WOLM

At the circus

v | At the circus every artist practises a lot
- for his or her show. Sometimes they
- watch the other artists and try out their
equipment just for fun.
Read, fill in the table and find out:

ofn P x

Who tries out the trapeze swing? animal trainer

Possible solution: 4-10-8-3-11-9-2-7-5-1-6

artist trapeze artist tl\?v';tlfeae juggler snake charmer | animal trainer clown
colour of costume silver golden purple green grey blue
equipment cobra balls confetti umbrella trapeze swing lions

. The trapeze artist is on the left.
. The tightrope walker is between the trapeze artist and the juggler.
. The snake charmer is between the juggler and the animal trainer.
. The clown has a blue costume.
. The artist with the grey costume is between the artist with the blue costume and the artist with the green costume.
. The artist with the purple costume is next to the artist with the green costume.
. The artist with the golden costume is next to the artist with the purple costume.
. The artist with the silver costume tries to work with the cobra.
. The artist that tries out the balls is between the artist that tries to work with the cobra and the artist that tries out confetti.
. The artist that tries out the umbrella is next to the artist that tries out confetti.
The,artist that triesgto work with the lions is not next to the artist that tr
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